EARAROBEEIERT — 2 N— IBISH —F

201212820 (H) 18E£IR1H

mﬁké ABREEIAFKELEZB1 —2 H7%—#% ‘ (xfg] £ ‘ [REm]  — | & (B) 14000 FR
[AE£] 17 :240,000 ™ ~ 27%:48,000”  37%&:21,000 ™  43%&:16,000 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 4 5 | JIIAPASA 1:30.4 3-3-3-1 [38.0| — 1 468 | /MNREK (£R)
1188 NAVAY) 55.0 (=) () |MEpiEx
R:Ag4 8TV N BRI FATS ERHIS
“ - # g | BEBH 1:30.6 2-2-1-2 | 38.4| — 2 532 | HIB5LE (£IR)
217|7 B WIS 56.0 (1 1/2) (+4) HA%EF
L:¥3)—ANMA—- B:E2—TF1T7=— T EBS
= - 4 6 | KEH 1:30.8 5-5-5-4 | 37.7| — 6 496 | KEF (£R)
3(5|5|73A=v ha—> 56.0 (1172) © | ) 77-2hevar
L:v—NFAHY>F— B:TYrex0-v> Y]
S S EUIES : —1-1- — Iz (£R)
s+ e| L7V TELT i 4 Ik 1(.13/02.)9 1-1-1-3 | 38.7 3 :+914) fifar
R:T7vox—0 B:I7LT7VTT7O— A EAE
NS Bz :31. —4-4- . — SARK (2R
sB o F =Ty o4 ER 1(331)5 4-4-4-4 | 38.8 4 (5&6) Bk
LT RIAYTvIN> B:5T7LYT7V1=— k=745
S 3 > 5 | ATRE 1:31.7 7-7-6-6 | 38.4| — 7 488 | £H—8 (£R)
N 3 EIEPZE A 56.0 (1 1/2) © |PEm
R:VPRYJYRIR B:A(YavtyFE e
o 8 | EHERE 1:31.8 6-6-7-7 | 38.5| — 5 473 | 1EEEX (£R)
7 11X MU= 56.0 (7E) ) |HEAER
Lk vAqO— BiHLIA4XER EUFHT7— L
> 4 | BFIEBAX — - — — — BRIk (£R)
sxWN 4| AT T EAEY - 56.0 (54 ‘zg;j ;J:Rj‘é
A=A Ax14 B:7z7U—-N=v> [AY:Eve ]
® I —F—@EBIERL
13=7r= 6,7,8,2,5,1,3
Aol=5r= 6,7,8,2,5,1,3
G§a=7r= (6,7),8,2,5,3,1
43—+ — 8,7,6,(2,5),3,1
[ RN
B OB 8 240M 714K 7-8 130H B E 7-8 220M &R 5-7-8 360M
8 B 8 140/ 5-8 240M B H 8-7 380M JEH 8-7-5 930M
7 150/ 5-7 250M
5 280M

ABICOVWTRDTEEERROODE. TR LIV,




